Name __________________________________________________

Quiz #8, Math 116, Spring 2007

1. For the network given below, use Kruskal’s algorithm to find the minimal spanning tree.  Label the solution on the graph and given the total cost of the network.
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2. For the network below, find the length of the minimal network. [Hint: use properties of 30-60-90 triangles.]
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1172
3. Give two properties of a Steiner point.  [Hint: NOT conditions for finding one.]

a) interior junction
b) three edges come together at 3 120-degree angles
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